Examples:

1)  Calculate the following; (-: ’i_ g)/@_ d - Z ¢

Given... Find...

Answer

Radius (r) =10 in The diameter (d) 2(\(5) d= ;2( ) in
Diameter (d) =6.4 in The radius (r) %ﬁ(; r= 5.-2 in

Radius (r) = 12.3 in The diameter (d) ;202(5) d= gq ‘ (ﬁ in

' | 4 o 6 ;
Diameter (d) = 1 in The radius (r) ’,;Z r= 2 %elin
2.)  Theradius RP is 6 inches. 3.)  The diameter of OB is 14 cm.
What is the length of AN? Find the length of XM.

AN represents the (MOW\ Q'&C( XM represents the \fﬁo@ US .
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Try It!

1.) Calculate the following:

a.) Given: radius (r) = 8 inches, find the diameter (d) d=___  in.
b.) Given: diameter (d) = 14.6 inches, find the radius (r) r=_____ in.
c.) Given: radius (r) = 6.5 inches, find the diameter (d) d=_____ in.
d.) Given: diameter (d) = 11 inches, find the radius (r) r=__ in

e.)  Given: radius (r) = 9 inches, find the diameter (d) d= in.




